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I ndian Army Technical sample paper

COMMON ENTRANCE EXAMINATION FOR SOLDIER TRADESMAN

TIME - 1 HR.

|- QUESTIONS - 50

ALL QUESTIONS ARE COMPULSORY AND CARRY EQUAL MARKS

01. Lord Buddha was born in

YIS G5T BT 571 HEl §3IT UT?

a. Lumbini / gt
b. Vaishali / a=meft

c. Bodh Gaya / aiy a1
d. Pataliputra / greferg

02. Who initiated Din — | — llahi?

dH-g-zaTet fra = faar a2
a. Shahjahan / =mgeTgl

b. Aurangzeb / 3ROE

c. Akbar/ 3®sR

d. Jahangir / S8R

03. Radcliffe line is a boundary

line between
YT arg fre 2 Y FTwR @2
a. India and Bangladesh / ¥Rd 3R

b. India and China / 4Rd 3R 94

c. India and Pakistan / HRd 3R
Tifd™
d. France and Germany / 3 3R STt

04. Mount Everest, the highest peak

in the world, is located in

Uie TaRRe, g 9 aed S e el R
8

a. Bhutan /Y™

b. China/ <=

c. India/gfsar

d. Nepal / 7ura@

05.

06.

07.

08.

The largest producer of tea in
the world is
ST B 9T BT WEH 98T SWUIEH S DI A1 32
a. Cuba/gar
b. China/dH
c. Mexico / Bfaa®!
India / 3far

Which country is known as the ‘Land of Rising
Sun’
%Iﬁ'ﬂ &1 331 P A a1 oTaT 22

Thailand / ¥Edg
Norway / Aifd

Japan / SIarE
Korea / iRk

oo o

Zoji La is a pass between

wiforen frads ot o1 o=f 82

a. Kashmir valley and Ladakh / %=HR
a1t SR e

b. Arunachal Pradesh and Tibet / 3{F0mad Ue1
3R fassd

c.. Chumbi valley and Sikkim / gwft B1¢t 3R
GIEE2e]

d. None of these / S99 I ®15 g

Who among the following is the
first person to set foot on moon
YSHT IR UGl HEH W aral Afad
DI UT?

a. Glen/wH

b. Rakesh Sharma / 121 I

c. Yuri Gagarin / g3t TIRA

d. Neil Armstrong / =ia ST
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12.

13.

14.
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The first Indian to receive Nobel

Prize in Literature was

I & W F9d (PR UTe 6 arel UuH
YR P 412

a. Mother Teresa / Aigz ¥

b. Rabindranath Tagore / YT ¢TIk

c. Sarojini Naidu / TRIfSHT Arag

d. C.V.Raman /& di3w=

Who is the author of epic ‘Meghdoot’
DI AUgd” TIPS & WP R A

a. Vishakadatta / fasmaced

b. Valmiki / aredifes

c. Banabhatta / SToIHg

d. Kalidas / ®ifcrer

One horsepower is equal to the
TSP 1Y UTaR [P RIeT g1 8l
a. 746 watt
b. 500 watt
C. 646 watt
d. 700 watt

Which equation is wrong in

the following
Frafafed & oi=-ar afteor Ted 82
a s=ut+ %at2
b. v=u+at

c. v2=u?=2as
d. v=u+as

Einstein gave a relation
anwﬂq%raﬁq |1 g7 fean
E = mc?

KE = Emv2

PE = mgh

P=mv

o0 o @

The weight of a body is

TS axg BT YR a1 82

a. The force with which it is attracted to the
eart%/a%aam%ma‘s’qza%aﬁ 3R 3w
&l

b. Mass/ 4R
Force /9

d. Momentum /Tfd

134
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15. Working of rocket is based on

the principle of

e frads Rigra uR orf Hrar 82

a. Kepler’s law / dUeR & g9
Newton’s law / e & a9
Coulomb's law / % & faq
Conservation of momentum / i

TRe&m & e

o oo

16. The value of ‘g‘is zero at

WWWW@WW@W%”
Surface of the earth / Ydd

center of the earth / 3t & &g

in the Indian Ocean / f§g TgRTR &
on Mount Everest / A3 TR |

o0 o

17. Rate of doing work is called

P B Pt X Bl Fad 32
a. Work/omH

b. Power / 2fad

c. Energy / &di

d. Momentum / TaT

18. Charge is the flow of
3T fre®T yars 82
a. Electrons /gdacH
b. Protons / Aert
c. Neutrons /g
d. Particles /&0l

19. The Doppler’s effect is applicable for
STUeR TUTT e W) f Feat 82
a. Sound wave only / %dd @ a<T
b. Light wave only / %dd UHT=T a_i
c. Both (a) and (b) / A 3R B gHI
d. none of these / S8 ¥ ®Is ol

20. Decibel is
NeawTe?
a. Musical instrument / Sifta-gdeh o=
b. Musical note / Tiftd-Teeht TR
c. Measure of sound level / &4 & R &1 AU
d. The wavelength of noise / @ff &t a3 &
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21. Efficiency of petrol engine is approximately
Ui g9 @ &var e A | fra- gidt 82
a. 25%
b. 40%
c. 35%
d. 60%

22. Two thin blankets are warmer than

single of same thickness as the two because

2 gdell Hrad I AeTE F AP FHET I TRA gt

? FF?
a. Total surface increases / $@ Idg ¢ Sl §
b. Distance for heat transmission increases / THf

TR gfg & o wiTe e oirell &

c. Distance for heat transmission decreases / THf

TR 9f & 7T T H 1 81 ol 3
d. Airisenclosed / ga1 ¢ g STt 82

23. One Newton is equal to the
TS e fhad aRIex giar 87
a. 10 dyne/10 SIU4

b. 10° dyne/10° ST

c. 102 dyne/102 ST

d. 107 dyne/ 107 ST

24. The permanent magnet is made from

which one of following substance
T W grae ¥ fad ar giar 32

a. Diamagnetic / afada®ig
b. Paramagnetic / 3da®
c. Ferromagnetic / &g gaid®

d. Soft— iron/ Ifue — 3MRA

25. Hygrometer is instrument for measuring

TuRfieR frd a1 g 72

a. The amount of Oxygen in air/gar &
SRS T |
Density of air/gdl &1 g9«

c. expansion of water vapour with temperature /
ATIHT & H1Y ST a1 ] faedR

d. The amount of water vapour in the

atmosphere / aRgHSd | S A% BT T
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26. Find the differential of sin 4x
sin 4x T 3[qH A FdT gRI?
a. 4 cos4x
b. 4tan4x
c. 1
d. -4 cos4x

27. What is the square root of 33489369
33489369 T TS FIT 82

a. 5887
b. 5787
c. 3787
d. 4787

28. A new car cost Rs 3,60,000 if its

price depreciate at the rate of 15%
annually, what will be its price after

5 years
gfe TP SR &1 B 3,60,000 UT 3R IYBT Tod
15% P g3 W Ufaay a1 @ df « 914 916 3!
T F TR

a. 1,79,000

b. 1,59,700

c. 1,55,700

d. None of these

29. Calculate the simple interest on Rs.
400 for Y2 year at 5% interest
per annum
1, ITd § Yoo ¥UT YR HIYRUT STl 4T T,
gfe arffe saret a3 46 g A
a. 100
b. 10
c. 75
d. 25

30. Evaluate 603 x 6

603 x 6 BT AiHAT HIfoT
1269000
21600

129600
3600

oo o
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31. A 225m long train crossed a 275m long tunnel
in 1 minute. Find the speed of the train in km/h

gfe T 334 Hiew A o forelt oy Hier T Y
2 fire ¥ uR oedt B, At 39 & F°t ifa i gt
a. 20 km/h
b. 15 km/h
c. 30km/h
d. 25 km/h

32. A field measures 450m in length
and 250m in width. What will be the
cost of erecting a fence along its
perimeter, if the rate of fencing is
chargeable at 50 paise per meter?
gfe fodt A F1 daTs ¥yo HMex 2 R A
Ruo e §, 1t 39 A H 91¢ F3A & g i
FUY F IR $I ¥ TS, afe aR o T ufa
Hiez 82
a. Rs 700
b. Rs 650

c. Rs 750
d. None of these/ 370 A BIs Tal

33. If a train is running at the speed

of 86.4 km per hour, then how much distance

will it cover in 10 minutes?

AR PE S e ¥ rRde MR Ta @
dt ag 20 fie # frat gt aa s Al

a. 1.44 km

b. 14.0 km

c. 0.140 km

d. 14.4km

34. If the sum of two numbers is 97
and their difference is 37. What is
the product of the numbers
gfe fp=8) & Temaf H1aN Qv § 3R STF diF
BT 3(AR 30 BT 8, 1 T8 AT T NI 2
a. 2378
b. 840

c. 2010
d. 1736

35. Ifa+ b =9and ab =20, then find
the value of a® + b?

36.

37.
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gfé a+b=93MRab =204 a?+ b2 HTHH
T ENM?

a. 21

b. 41

c. (c)60

d. (d) None of these/ 378 q HIs e

Sumof5+8+11+14
5+8+11+14
BT TN T G2
1003

803

903

703

22" termwill be
22dY TT dh

o o o

The sum of the fraction 2/9, 4/3,
and 6/18 is

219, 4/3 3R 6/18 FArs &1 ANT &,

a. 17/9

b. 16/9

c. 2/5

d. 11/18

38. How many diagonals can be drawn

in a polygon with n sides

et agye R 0’ ver 8, 39 fpam el a7 ma
ST WHa 82

a. n(n—c)?

b. n(n—3)?

c. n(n+ 3)?
d

None of these/ sﬂ'ﬁ I ?ﬁ§ T@

39. A trader marks the price of an

article 20% above its cost. He

gives discount to his customers

and gains 8%. What is the discount

gfe ®ig fashar et avg WR 0% STl

P BUATAT § SR 981 W (% TTH HUTAT &
at 394 farart ufe=ma ge &

a. 21%

b. 10%

c. 4%

d. 12%
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40. If the radius of a circle is tripled, its 45. Atom bomb is based on the
perimeter will increase how many principle of
time to its previous perimeter qHTY] 99 foh R W &1 Fvar 82
gfe T g 3t Hrear &) fogan fear siran 8 o Sawt a. Nuclear fusion / TRHTY] Jea=
aRkfr fpa-it ag smet b. Nuclear Fission / o] fa@g=
a. One third / T feTs c. Both (a) and (b) / A 3R B 3t
b. Three times/ M aR d. None of these / &7 4 1< el
c. Two times /@ aR
d. None of these / 370 ¥ s Taf 46. Heavy water is
PSR oA BT A 82
41. Which of the following is the a. Seawater (H,0 + Salt)/ggl Sd
lightest metal b. D,0
Ffadaed e ygaad g 2 c. H,0,
a. Mercury /ORT d. H,0 along with Ca and Mg carbonates/ H,O0,
b. Silver /=id Ca 3R Mg ®Taie & I1Y
c. Lithium / ferfas
d. Lead/ws 47. The gas liberated during the
_ 1 reaction of copper with dilute
42. What is laughing gas Sitrie Acials
BT 11 st gt e &2 T FIR, AT St 35 AT SR T 3
a. Carbon d|0X|de/War=rSTs'&na§13‘s' A P < i Pread &
b. Sulphur Dioxide / Te®R STs3NTZS
c. Hydrogen Peroxide / glggio- RIS S g' Zzg
d. Nitrous oxide / igcy TFZS c 0; 3
: ; d. NO
43. The filament of an electric bulb
is made up of 48. The highest grade of coal whose
fateht & we 1 ag fovw uig w1 9 surface is shining and has highest
LRI calorific value is
a. Iron / witel YA BT FeaH YHR TP Teg THHER
b. Nichrome / Fprd 2t € ok et Suity wr e aiftre
c. Tungsten /& N

d. Graphite/
raphite / J®1se a. Bituminous / fagfra

44. Washing soda is the common b. ’l&'g?llte{ﬁ’l‘/«'lﬁ?
name for c. Anthracite / TRSC
d. Peat/dle

IRAT WY ST fhdeT =g 914 82
a. Calcium carbonate / Sfexrrg Hraie
b. Calcium bicarbonate / Hfcrras feeReRe
c. Sodium carbonate /f$aH H1EMHe
d. Sodium bicarbonate / Tf$aH dEHEMT
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49. Production of chlorofluorocarbon 50. The final product of combustion
(CFC) gas which is proposed to be of ethane are
banned in India, is used in which of ST B AATH T T7T 82
the following domestic product a. Carbon and Oxygen/&Ta 3R SffaiteT
FARIFARIBTE I A ol Bt YR & ufasfa 8, Fad b. Ethylene and Hydrogen / T 3R
f5a g Iure & IuAT § arft St 32 HECISEI
a. Television / ¢efifasH c. Water and Carbon monoxide / ot &R
b. Tube light / e drse CACE R BIEN G E
c. Cooking gas / 38Is 79 d. Carbon dioxide and water / FTe=
d. Refrigerator / fopt SRS 3R U

Answer key

1. (@) v 2 () 3. (c)V 4 (d) V5. (d) V6. (c) v 7.(@) v 8. (d) v 9. (b) v 10. (d) v 11. a) v 12. (d) v/

13. (2) v 14. @) v 15. (b) v 16. (b) v 17. (d) v 18. (a) v 19. (a) v 20. (c) v 21. (a) v 22. (d) v 23. (b)

v 24.(c) v 25. (d) v 26. (a) v 27. (b) v 28. (d) v 29. (b) v 30. (a) v 31. (c) v 32. (a) v 33. (d) v 34.

() v 35. (b) v 36. (b) v 37. (a) v 38. (d) v 39. (d) v 40. (d) v 41. (a) v 42. (d) v 43. (C) v 44. (c) v

45. (b) v 46. (b) v 47. (c) v 48. (c) v 49. (d) v 50. () v/
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